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. the factors responsible for the
s dian National Congress.

: the In
formation of : va ;
British policies towards early
What were the
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2. Trace the course of expansion of Western
and technical education in Bihar between

1857-1947. 38
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3. Critically analyze the factors responsible for

the. cmergence of Gandhiji as an eminent
nationalist leader. 38
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' igtics of Mauryan
5. Pescribe the chief characterist A

art.
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g any two of the
&) Write short notes on any 19x2=38

following :
{a) Santhal Uprising
(b)) Champaran Satyagraha

(c) Rabindranath Tagore’s Contribution to
the Freedom Movement
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SECTION—II
Qus—II

7. Discuss the origin, membership, develop-

ment and objectives of ‘QUAD’. W i
en, . Wh i
significance for India? S
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@ ‘Agnipath’ is a path towards development or
destruction? Comment. 38
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9. Discuss the concept of ‘One Nation One
Election’ in Indian context and give your

arguments for and against it.
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LI_l/O ., What is the root cause of war between Russia
and Ukraine? Discuss its impact upon the
nations of the world with special reference to

India. 38
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11. It is generally alleged that ruling party
misuses the Constitutional Institutions for
its vested interests. Do you agree with this
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SECTION—III
wus—III
( Statistical Analysis, Graphs and Diagrams )
( witeah fageraw, am@A 3R == )

12. Study the following table carefully and
answer the questions given below :

Percentage marks obtained by seven students

in six different subjects
Subject
A B C D E F
(Out of | (Out of | (Outof | (Outof | (Outof | (Outof

75) 150) | 100) 50) 150) 75)
P 85 68 76 92 g9 | 82
0 78 72 84 80 64 70
R 66 75 79 88 72 66
S 74 62 91 74 70 74
T 90 75 67 68 69 78
14 86 80 69 78 82 80
W 82 68 81 85 76 72

{a) Find the total percentage marks secured

by R in all the six subjects together
(h) Find the difference between the marks

obtained by P in the subjects B, Dand E

together and the marks obtaij :
the same subjects, ned by T in
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13. Study the following pie-charts carefully and
answer the questions given below :

Market share in 2013-201 4

Sales of toasters

2010-2011
(200000)

2013-2014
(350000)

2011-2012
(250000)

2012-2013
(300000)

Videocon

(a) Assuming that Videocon has
maintained its market share at the
same level from 2010-2011, what is the
total number of toasters sold by
Videocon in these four years?

(b)) If in 2012-2013 the market share of
BPL was 7%, then what is the change in

the number of toasters sold b
BP
2012-2013 to 2013-20147 Y BPL from
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(c) If Maharaja is one of the companies
included in ‘others’ and its sale
constitutes 40% of ‘others’, then how
many toasters of Maharaja were sold in
2013-20147?

(d) Assuming that the number of toasters
sold increases at the same rate in
2014-2015 as it did from 2012-2013 to
2013-2014, and assuming further that
TVS maintains its market share, what
will be the number of units sold by TVS
in 2014-2015?

(e) If in 2013-2014 IFB sold 7000 more
units and effected the market share of
other companies, then what would be
its market share (in %)? 4+8+6+8+10=36
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2010-2011
(200000)

2013-2014
(350000)

2011-2012
(250000)

180°
Videocon

20122013
(300000)
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pind the ratio of the sum of targeted
(d) roduction for the years 2002-2003,
6 and n006-2007 to the sum

2005-200
of the actual production for these years.

rind the difference between targeted

production and actual production for
the years 2002-2003 and 2005-2006
taken together. 6+8+8+8+6=36
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15. The following bar graphs show the Per Capita
Income and Nationa] Income of g country for

the given years. Refer to the bar graphs to
answer the questions that follow

Per Capitq Income (in )
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National Income (in ¥ ’00 crore)

4726
1224
G vl
e (AT ) [ AO0 ; : :
1951 1961 1971 1981 1991

Years

(a)

What is the growth percentage in Per
Capita Income’ from 1951 to 1991?

(b)) What is the annual growth rate of Per
Capita Income’ from 1961 to 1971

(assuming that the growth was uniform
throughout)?

(c) Find the country’s population during
1981.

(d) What was the growth rate in population
during the decade 1981-1991?

(e) By how much percent the ‘National
Income’ grew from 1951 to 19917

6+8+8+8+6=36
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